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PHYSICS

1) A current of 3% Hz ﬁéquen is passing through an&.C C. circuit hWahg
% series combination of R = 100Q and I =2 B, the phase dlffel ence between

voltageand current is .
A gfzuok, w @ 2 e oL

4

f © 30° (D) 90° ‘?&Wj‘f 2.
&2 -\Pn 5 & PS5
2) In A.C. circuit having ondy capaCitory the current, . T ?XQ
A) lags behind the voltage by | B
(A) lags behind the vol nlnphase - 5 ‘OO .

Meads ﬂxevoltageby/m@
| (C) ‘adzrdmtﬁg_eﬁﬁi‘ﬁﬁﬁﬁgc |

(D) lags behind the voltage by / in phasc R 7 2 \\—{‘MQ "

-3 An altematlng voltagc glven as - V = 100/2 sin 100t volt is applied to a
capacuor of I pE. The current reading of the ammeter will be equal to

} (4), 80 /5:2 ->e§9 20 ‘0055 2\ |
f © w0 ﬁ 93(10 Noms, > V! 00}5
4) N .The dlstanoe of the closest approach of an alpha particle f:red at a nucleus .

i ~ e wuh kinetic energy K is 7, The distance of the closest-approach when the o
: particle is fired at the same nucleus with kinetic energy 2K will be

: S W . ® 4 lOx\o
S ]
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9}% Number of spectral line in hydrogen atom is \)I
A : B) 8 6’
@A) o (B) o

(C) 15 . D) 6
fA B
6) -Aradioactive element X disintegrates ;uccéssively as under

W we F2

\B0 %0 -
@1) Xy XX,
H 12 Ao .

o If@ and atomic ass number of X are respechvely 72 and
180 are the corlespondmg values for X,? )

174 ‘ - V
9 ~ }0/ 70,172 OC& Cf)\ (B)...,,-Gg';'lfiz s Q@O@mg"
| e A €©) "71,176 c)/cj@\ 69. 176 RO 6~\'\

7)  The energy released by the fls@pone ura}\gm 210
3 number of fission per second 1equ11 ed to prod el

7 Q»@o o
' 8 ‘?ﬁp by successive disintegration o

: \‘ ,Pb?9%, then how many number of o, and B partlcles are emitted?
M (A)g)and 12 B) 6and8 .
(€ 12and6 d6 | |
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9 A c,hangkes piaec_between  the base and the emitter when an
input signat isTofinected (o the CE transistor amplifier. As aresult , 20 pA '

o b\} e change ke place in the base current and a change of 2 mA takes place in
v / the collector current. Find the input resistance and A.C. current gain. -

oS | PRIPE N
(A) 1KQ, 200 5};@ (B) 1k, 100 Nlgz220%\(G" "
é(C) zm 200 . @’ gSLB D) kQ 100 K\‘cg 2::&\0'"&

‘i//@'s\o | o 3
10t 2 Fosiot wich 25T

20
Wlﬂ) A plane polanzed light is incident normaliy on a touimaline plate. Its I3

o \LgL vectors make an angle of 60° with the optic axis of the plate. Find the
CL percentage difference between initial and final intensities.
| W 9% o (B) 50% 1o
o © K% D) 25 | 2@
(4 : g o
9 ?ﬁ’o;' 3 - TQ'(IO (S
O i ' o@% j \
lﬂb’ L:ght of wave length ?us m01dent on slit of W1dth d. The resulting : --

vmk

pattem is observed on a iereeﬁ laced at di istance } D. The linear W1dth ob
~centra %mum 1s egual to w1dth of the. sllt then D =

® 5 ® 5 S
d d? — 2D
9 L (%4 .
© 3 5 ce
Q_-ff |
>
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0 (B) 12

/oa)f 0.16

12) InaN-P-N transistor aboutd 0% electrons ¢ ter the emitter in 2513, when it

is connected to a battery. Then E’”‘“‘j uAI. -
SA5 1600 - ‘ e
| Tz N ‘6'><\ G><\C)
(B) 400 | *LQ?‘,W = 10 C
o T 2% 08
(O, 800 -t .,-ﬁ‘-\ o
- : 3 -
) 0 \@@\ L. 7 1.ex108

. .-.CHC
00)(\0 TR W
\6 | AT

).
13) Theeffective length of a magne is 31.4 cm ind its pole strength is 0.8 Am.
The magnetic moment, _1f it is bent imrttie form of a semicircle is ,, Am

(A) 012

D) 15

14) Equal currents are passing through two very 1on@nd stral ight parallel wires
in the samé direction. They will

(A) nen.her attract nor repel cach other .
By attract each othe_ T _ /&

(© Tloan

owards each other

(D) repel each other

(Space for Rough Wdrk) —
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15) A voltneter of a very high resistance i joined-in the circuit as shown in
g‘o fagurc Thc zoliagc shown by this voltmeter will be

et Rt e |

C’«\ .
Z)Q //% { 60 /‘\ N) 2?@
1 8.0 (:‘_’2-\% > 10
Q/Og MWW \
o A P
p R @A) 3V o ®) 5V 2 @< .
\s .

k A obtamed in the galvanometer. In order to order toreduce this deflection to 15 dmsmn,
\} LI the resicfance in series shouldbe Q.

7950 Y (B-) 1950
=S e‘i%. (D) 7500

&m% (C) 2000 &

" , D ——— ‘an-—————""""""_“’ .
i 17) Ataplaceon Earth the vertlcal component of Earth’s magnetic ﬁeld
:  times its horizontal component. The angle of dip at this place is

woe - 1/@Bj/60° N

©) 45° t o 30°-‘c¢1ﬂ@7§;; "
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18) Which gate can be obtained by shorting both the mput terminals of a NFOR
gate, ' ,

(A) NAND . @ NOT
(C) AND ‘D) OR ‘
(@ AN | S
o 19) ffs_\q—;()pt‘i’cail;f__ibér can offer a band w1dth of

(A 250MHz ALY
(C) 750 MHz (D) 100 MHz

| l - 20) To transmit a signal of 3 KHz frequency, the minimum length of antenna is

@A) 75 A L g s o%rg«\av \Q&f@ |
| e ‘357“\6&: A e ,
| © 50 NN T o

21) 27 identical drops of mercuty are charged siﬁlultaneously with the same
potential of 10 Volt. Assuming the drop to be spherical, if all the charged .
drops are made to combine to form one large drop, then its potential will be

o Vol -

22)  When 10 electrons are removed from a neutral metal plate through some
| pll‘occss, the charge on it becomes — . _ 'Vﬁ""

C(A) 109C ABY +1.6C et ~

(€) 10°C - (D) -16C

i

(Space for Rough Work)
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23) One moving electron when comes closer to other stationary electron, then
its kinetic energy and potential energy respectively and

(A). decreases, decreases (B). incrcases,@a;a‘se
3 \Q/decrca'.scs; ficreases (D) -iricreases, decreases

An inclined plane of length 5.60 m making an agle of 45° with the horizontal

# is placed in an uniform electric field E= 100 Vm. A particle of mass 1 kg

ﬂ " . and charge 10 C s allowed to slide down from rest position | from maximuan
/‘% - height of slope. If the co-efficient of friction is 0.1, the tlme 1aken by the

 pariiclé to reach the boftom is a
@6)/ (A) 15 ,)L\ B) 141s gﬁw
o 7@ 25" @/7, BN (D) None of these
. Q T :
harges 1 pc are placed at each of the four corners of a square of sulc »
2J_ m. The potentlal at the point of mtersectlon of the dlagonals is

T (K=9x10°STunit) L S|
J(A) 18x10°V ®) 1800V %‘
w% —4

‘ (C) 18\/,_2_><103V (D ‘None of thése.

2 _
26) A pomt charge q is situated at a distance r on axis (gne end of a thin
~ conducting rod of length L having a charge Q[Uniformly dlstrlbuted along
© its'length]. The magmtude of elcctnc force between the two is .

o ol . KQq
.Mm R

\(\\g

2

2

KQg |  2KQ
| © CUR D T
J (Space for Rough Work)
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(D) 1:72

28) de- Bloghe wave length of atom at TK absolute tempel ature w1]l be -
SR u*”/
(A) 2mKT BmKT >9
A

© mKT N2 {0

2mKT (D) k. Pt

29) If the wave length of lrght I8 4000A° then the number of waves in 1 tm
gggnwﬂ] be - e
B 25000, ° 2500 - Ao ,\g@ﬂp
om0 | Vs "0~ TR0
N e el |

' 30) Thc frcquenmes of X rays Trays and Ultla violet rays are respe(,tlvely g
and rthen a4 ' ° ‘ 6
(A) p>q,q<r - ®) r>q.q9>r o (ﬁhﬁm

© p<ai<r \ ®f p<qe>r o
‘ R ™ML LY @F
“31) -Photons having energy leV and 2.5 eV successively incident. on‘Pme al

having work function is 0.5 €V. The ratio of maximum speed of emitted”"

" electrons is . | S
A) 1:3 o ® 2:1 \—Yr2
© 3:1 })ﬂ”l:z 2s-0T
{Space -fdr Rough Work)
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32) A and B are two points on a uniform ring @Z@l‘he resistance of the
ring is R. ZAOB = 0 asshown i in the figure. The equivalent resistanace
ctween points A & B is S

2.OCon -

- RO
(D) o

| - 33) Two wires of equal length and equal diameter and havidg remstwmes 0,
! : and p,ate connected in series. The cqulvalcnt 1eSISt1\r1ty of & combinatiol
cI8T oo e - 3

W o

PP
(C) 0, P,

(Space for Rough Work)
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34) Match the following two columns.

Columnl "Column Il
| a) Electrical res1s4g@ | p) ML3T- A2
b). @@tenlm ~ q) ML’T A
g c) Speed CTesistan Tl MeT2A s
| d) Sp@ﬁb@onduuanc@ s) | None of these

(A) a- p’ﬁr—r-*c* q,d

TR S

(C) a-p,b- q,cl"”’ r | ML
D) a-g¢.b-s,c—rd-p |

35) Angleof ffimum deVIauon r a prism of refractive mdU equal to
the angle of prsniof given prlsm Then the angle of prism is ______

: Q 5in 48°36' .
/}} & EA) P (')75) Fen 2)2 - @Cﬂ ua)l
, (C) 60° (D) 41°24'

). \?5
‘-
36) - A ray of llght pas 5T foi'a xﬁedxum A having refractive mdcx 1 610 “the
medlum B havmg refractxve iridex 1.5. The value of Cl‘ltlcal  angle of medinum.

\.G xﬁﬂé')%

R et e T
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37) The power of plane mirror is ) {’) ,’/% "&M 2 G -
(A) b ’ (B)0 |
(C) 2D | D) oo

38). Light waves travel from optically rarer medium to optically denser maedium.
- Its velocity decreases because of change in -
_(A) phase | \Mvelengdn
(N amplimde _ | ' D) fréqucncy '

39) The Network shown in Flgure is a part of the circuit. (Thc battgy has
neghglblc\wca <000 —12A- X \O B« \Q
g '

- : "
~ &x1O
=20 E—IZV L=5mH 0.5

B~

)«g O ™ o gy 0S
\Q/ A rtam 1nsta.nt %ne curren A) and it is decreasing at the rate of
—

7 What is the potentlal dif erence between the points B and A?
NgT . B
| (A‘)_lsv‘ \y/ssv A Lo ﬁ[&

D) 80V S

=

40) . A rod of ¢C s moving perpendicular toit umfonn magne i
- of intensity 5RTOT Wh/m?, If the acceleration of the e ;
rate of increase of induced emf is

(A) 20x10% Vst (B) 25x10*Vs

(C) 20x 104 Vs . AD)V2.5 % 10 Vs

(Space for Rough Work)
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| CHEMISTRY
41‘) What 1s IUPA':C name for isophthalic acid?
(A) Benzene - 1, 5 dicarboxylic acid
Benzene - 1, 2 dicarboxylic acid - ' | -~

© Benzene - 1, 4 dicarboxylic actifd

| \}Z{ Benzene - 1, 3 dicarboxylic acid

42) What is the name for | ' L

(A) p-N, N dimethyl amino azo benzene

\}})/ B - napthyl azo benzene

(C) p - amino azo benzene

(D) p - hydroxy azo benzene

43) Which of the following is not formed by Sandmayer reaction?

(A) CHCN | (ﬁf CH

©) CHBr ' D) CHCI

For which vitamin li

(A) Yiamin-H) — (B) Vitamin-B, | ;

o ()] Vlti[nl “B,, o (D) Vitamin-B, | o l

? o (Space for Rough Work) | | ‘
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45) In which of the following compound, all the monosaccharide units are not
joined by C, — O — C, chain. ’

\9/ Amylopectin _ : (B) Lactose | .

(C) Cellulose - . (D) Maltose, - = .

46) Which of the followmg polymer is foxmed by ddltlon

polymerisation reaction?
(A) PVC ~ (B) Poly styrene

() Teflon = (D) Butyl rubber

47) Wluch of the followmg polymc1 is used n pxgment‘?

._(A) 'r?( | C®
\(},)_/S'alt of sorbic acid (D) Aw

(Space for Rough Work)
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49) Which of the following defect s seen igFe0?)

(A) Impurity defect
Metal deficiency defect

(C) Displacement defect - -
(1)) Metal excess defect ' .

50)‘ Whjch of the following substance possessg
@ M0 (B)
(C)' H.O . (D) Fe,0,

51) The boiling points for aqueous solutions ofSucrose al@rc same a
) constant temperature. If 3 gm of urea.is dissolved in its 1 litre solutlon
[ .

! : what is the weight of sucrose dissolved in its 1 fitre solution?

[Urea - 60 gm/mole sucrose = 342 gm/mole] N ' :
(A) 34.2 gram ' /,B”) 17.1 gram 2 2 W2
< gram : | 60 8\[2—

(€) 6.0 gram (D) 3.0 gram -

A Ot it o s -

52) Which.option is inconsistant for Raoult’s law? o
Solute unflergoes dissociation in solution L
(B) The change in heat of dilution for solution =0

(&) Solute does not undergo assoaatlon in solution

(D) Volume of liquid solvent + volume of liquid solute = vo]umc of
solution. :

{Space for Roﬁgh Work) E— | R
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53) Whichcolligative pli)pcrty is more useful to determine the molecular wei ght
of the substances like proteins and polymers?

\% Osmotic pressure

(B) Elevation in boiling point

(C) Depression of freezing point

(D) Lowering of vapour pressure

(A) the colour of red or blue litmus does not change
(B) turns blue litmus into red ‘
(C) remains colourless with phenol _ ' ,alé{inf‘

(D) tums red litmus into blue

C>B>A

\ (’“
\L &A>B>C

g iy i 5l

— 1)~

ontammg molten solutlons of w&
Trohforide are connected in series. If same 9mount—o£electnc current
, hem, what will be the weight 'of Nickel dbtained when
Fm of Awed? (Al - 27 gm/mole, Ni - 58.5 gm/mole-‘)
(A) 385gm—" | (B) 117gm
) 29.25 gm ‘ (D) 585gm |
<< €9 Space for Rough Work) -
\ff‘e‘mq | O)&‘z@f‘( a2~ e
v A® L?
| | QT O .66
o o . 9 20.66.
7 egm, (8 T o S
) N wl o
0 66 merd. B |
aF — lyoel W oot O oy
* 7o WleoCy.
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57) Which method is used to get very pure germanium used in semicomductor?
zone - refining
(B) vapour - phase refining
(C) liquation
(D) electrolysis

58) Which product will be obtamed in the following reaction?

Reaction : P, +3NaOH, +3H,0,, — 2PHg, 473 Wapo 2.

Wpﬂ +3NaH PO, — (® PH, +3NaH2P0;m,-
(© 2PH, +3Na JHPO,_ (D) PH,  +3NaHPO, ;

3 o 59) The molecular formulae fo@n@  and

i respectively. P OQ, : ‘ o7
i , (A) SOCi, and CCl NO, (B) COCl, and CC12N0

d (313N0 (D) SOCI, and CCLNO,

%0) ) Which of the following mixture is called Aguaregia?
(A) Three parts of conc. HCl and 1 part of conc. HNO,
(BY"- Three parts of dil. HCl and 1 part of conc. HNO,
() Three parts of conc. HCl and 1 part of dil. HNO,
(D) Two pauts of conc. HC and two patts of conc. HNO ‘:- . ~

S T

A i

o ‘(Sliace for Rough Work).
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. 61) Which of the following is allylic halide?
. 3 -chloro cyclo hex-1-ene
(B) (1 - bromo ethyl) benzene
(C) 1 -bromo benzene
(D) Benzyl chloride

62) 50% of the reagent is used for dehydrohalogenation of 6.45 g CHsCI*:I Cl
What will be the weight of the main product obtained? — &M ‘S_

- [At mass of H, C and Cl are 1, 12 & 35.5 ggn/mole™! respectlvcly]gz))f —
o . s4gm C H c/l@mg*’*
GO 28 g 'h'r‘fzn | ;.'(1;)){. 0.7 gm  Gue. B2

63) Name the following reaction CHaCH2C1 +-NaI __L“"E‘E_> CHE'CHZI + NaCl

(A), Hell-Volhard Zelinsky reaction Ceontonr= TR
1‘ Frinkel-stein reaction L Qﬂ,@‘zg u.g
(C) Wurtz reaction gb%f' ..__-QuS@—m ' 2 .18
! (D) Swartz reaction : _

64) Which reagent is used for brommatlo of mcthyl p enyl her? o QQ H,L{

A) HBt/A TR0 - @b

(BX B,/ CH,COO .
}Q)”Bl /Fén’r/ . 6'.u§w 2%
" sug — 2

(D) Br,/RedP

A (Space for Rough Worl)
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65) Which of the fo]lowm g acid does not have -COOH group?

GG

- (A) &alicylic @ \93( Picric acid |
" © Benzoic acid ) EW
66) Which-of the following statement 1@ SR
Wéﬂ iling point of o-nitrophenol is IOWer than that of p-nitrophenol

(BY Phenol is neutralised by sodium carbonate |

(C) Solubility of phenol in water is more than that of chlorobenzene

. (D) , Phenol is used to prepare analgesic drugs :

67) Total orde caction X + Y — XY is 3. The order of reaction thh;
25| talc the differential rate equatlmthe reaction.

Cw %%LK[X][Y]’ ® —%"—]--K[XJ“[YT

| }Q{ —dc[iXLK[X]Z[Y] | D) —‘a'r—[Xl—K[)(f[Y]0 |
5 *C{XJQKQ&\‘]‘ o |

:* Step SR Step-1I . : .
E 68)  X- > YL=2=5Z is a complex reaction. Total order of reaction i :
) 2 and Step - ILis slow step. What is molecularlty of Step-m
[ BROK \53/2 .
o - ©3 L o) 1

. : %
(Space for Rough Work) -
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— e

Reaction 3CIO" —» ClO, + 2Cl occurs in following two steps.
@ ClO + ClO" —F— ClO, + CI (Slow step)

(@) CIO + Clo" —%a ClO, + CI' (Fast step)
then the rate of given 1eacuon = '
(A) KJ[CIOT - B) KJiClo]
- (©) K2[C10I2"] [CIO0] , (D) K [ClO)

A

4

70) At given temperature and pressure adsorptxon of Wthh gasof the followmg

' will take place thcdnost"
09
(A) D1 nﬂroger{\9 2— ' B) D; oxygen
P (0)) Ammoma }B{ Di hydxogen w 2
ANy,

71) Which type of colloid is the dissolution of sulphur (S))? -

. (A) Macromolecular colloid - (B) Micelle
| | \EQ/Multimolegula: colloid (D) Associated colloid

@ For Adsorptlon phenomcnon a S P |
‘ : \jB')/AH = —ve.,sAS = +ve

(A) AH = +ve, AS +ve
(C) AH =-ve, AS =—ve R (D) AH = +ve, AS = —ve

(Space for Rough Work)
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73) Which of the following statement is incorrect for KMnO,?
M is dark purple coloured amorphous. substance. XX
. tark purple colou _ |
(B) Itis used as antiseptic.

— T .
(C) Itis used as bleaching agent in textile industries. e

. —

(D) Itisan oxldlsmg agent

74) Which of the followmg fon has the 1nax1n1um theoretica magnetlc momeli

75) Wthh of the following vxide has the maximum pasicity? | & U]’LP
(A) Gd,0, (B) Pr,0, |
| Vg/ © smoO, Oy 120, Ca

i
¥
i
|
i

}

g o < 5

76) “Which of the §fcullowm g spectrochemical series is true?

| (A) SCN <F <en<CO<NH,

/‘J{)QSCN <EF~ <NH <en<CO

A ~(©) SCN <F <en<NH, <CO

(D) SCN~ <NH3<F <en<CO

(Space for Roug-h Work) |
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77) Which of the following complex is paramagnetic? .-Q.‘Zoiu X’

@ icLp N ®) @( ""@vﬁéﬁ

(©) [Ni(CN), - D) N1 (CO)] p
—— , RS Gl
78) BO" are diamagpetic. The types of hybridisation
‘of Ni Inrthese complexes are & ﬁ_respectively.
LW apdr \BRA g adus’

(C) dsp?, sp?

S SV VT KT TS K

Which of the following order of acxdlc strength ig Oﬂq}é ,

e  order o |
Ay CcH COO,)@ COOH M(CH,), CH- COOH D o ¥ Cr &42°

\9/ CH,-CH,-CH. COOH>CH3 -CH-CH, .COOH > CH,- CH2 CH,-COOH

I I .
Cl | Cl Cl

(C) H-COOH>CH,COOH>CH COOH_,\/
D) c1 ‘C-COOH > C1,,CH-COOH > CI-CH,- COOH\/

80) What is the formula o

() CL=CH-CONH,  Cm,ciCooH o Cig COla,

%\ CH,=CH-CN ~ = ,

(C) CH,=CH-COOH
\99/@12 =CH-CHO

(Space for Rough Work)
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BIOLOGY

81) A- TheDNA fingerprint is the same ibr every cell, tissue and organ of a

- 82)

person=-y—
R - DNA fingerprint is used for treatment of inherited disordérs like
Huntigton’s disease, Alzheimer’s and Sickle cell anemia®—~

(A} Aiswrong and R is correct

(B) A and R both are correct but R is.not explanation of A |
(Q)j A is correct and R is wrong |

(D) A and R both are correct. R is explanﬁtion of A"

Which part is not included i Coél%lea ? ‘
3 Macula of Utricle

(A) Tectorial membrane 0

| (C) Scala Media ' (D) Reissner’s membrane

Which is Gynandromorph type of animal?

83
(A) Drossbphilla _.'(B) Beetles -
(C) " Silk worms }Dﬁ’ All of the ébove
84) DNA polymerase enzyme is isolated from which bacteria?
(A) Agro bacterium (B Thermus aquaticus
(C) Bacillus thrunegenesis (D) E.Coli
' (Space f_dr Roﬁgh Work)
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85) Match the cqlumn I, IT and I

Column I Column 11 _ Column 111
P) Cifrichomogiasis i) Hcrb‘cé Siinplex x} Painin iqwer abdom.en

Syphilis ii) Neisseria y) Inflimmation and

e ' gonorrhoeae itching in and arounc

' vagina
R)' Gonorrhoea ji), Treponema z) . Patchy hair loss
- Pallidum 4
S) Genital herpes  iv) Trichomonas w) Feeling of uneasiness
- Vaginalis ‘
f“—-—”——_—‘_

Ay (P-i-z)(Q--ii-y‘)(R-iv-W)(S-iii-x)
® w)(@i-z)(R-ii-;c)(s-iii-w)
(C) w(Q-i-w)(R-ii-y)(s_--i-ii-z)
&}.(P-ivjy),(Q—iii-z)(R-ii-.x)(S~i;w)-

95
{

86) What is the height and weight of twelve weeks old human embryo?

(A) 32cm, 650 gram e /B/) 7.5cm, 14 gram : ({\ g&‘
75cm, 14 gram ‘
(C) 42cm, 1800 gram (D) 7.5cm, 650 gram AL

S{e")ﬂg

~ (Space for Rough Work)
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87) Assertion A : Restriction endonuclease 1cc,ogmze short pa]mch oInic sequence
and-cut at specific sites, —
Reason - R : Whena restrictiqn endonuclease acts on Palmdlome it cleaves
both the str ands of DNA molecule, ]

(A) A iswrong and R is correct - .
A and R ‘are both correct but R is not éxplanatioh’ of A

(€) Ais correct and R is wrong

(D) A andR are both correét. R is.explanation of A.

- 88) Write proper option by matching column I, 1T and I1L.

Column I Column IT ) Column III
(Name) . - (Enzyme) _ (Function)
) (Gggﬁic Juice P) . Chymo- - A) Dipeptide convert into
—— — trypsinogen a‘;!}‘ﬁno_ acid”
i1) ¢ Inbcstmal Juice ) ; Q¥ Ptylin : B) Proteoses convert into
T S small polypeptides
iii) S;}!\ivqﬂ_ ' (R) Renhﬁ . () Casein convert mto '
. R e i Eara% :
@_}E u1c S) Erepsin’ D) Conversion of starch -
e . into maltose

(A) (i-Q-A)(i-P-C)(ii-R-B)(v-S-D)
(1 R-C)(i-S-A)(ii-Q-D)(v-P- B).
'C—____.__—.-————acv'_____—————'/-n_._,._%_

(© (-S-D)@Ei-R-C)(ii-P-B)@v-Q-A)
1) (i-R-C)(ii-S-A)(M(iV~P-D),

(Space for Rough Work)
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89) Write the correct sequence O@Eif diversity)
(A) Kingdom — Species —» Chromosomes — Genes: — Nucleotides

\9)/ Population — Species — Chromosomes — Genes — Nucleotides

(C) Species — Genes — Population ~> Chromosomes ~» Nucleotides -

(D) Kingdom — Population — Species — Genes —» CthlTlOSOll’lb
— Nucleotides

90) Malch the column I and I and select the correct option.

Column 1 : Column II {concentration of DDT in ppm)
A) gooto Plankton ~P)  0.003ppm
B)q Small o Q) -2ppm
Oc Water - _R) 25 ppm
D) Q‘ l_sh eatmgbmj/s()Q 0.04 pprx{>

. B) Bigfishes T) '0 5 ppm '
| A B C D E
A Q p S T~ R
@ s T p Q R

O S Ty R Q P

P s I P R o
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91)° Which of the followmg disease shows thc b]ockage @M bule and |
~ causes severe back pam?

(A) Nephritis
) (B) Kidney failure
(C) Uremia

5}3{ Renal calculi

' 92) During photorespiration Wthh compounds are formed havin d 3C
respecu vely in Peroxisome? _ Ot_(w L Rk

(AY Phosphoglycerate, Glycolate

m&lne Glycer a%c

(C) Serine, Glycine2 C.

D) @EO/ Glyc&e

'93) During rainy season wooden doors and windows are not properly closed.
Why? '

\ﬁ/ mblbltlon

(B) Diffusion
(C) Osmosis

(D) Plasmolysis

‘ . o 7 | ) (Space fdr Ro-ugh Wofk)
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94) Match the column J, IT and III

Column I ~ Column II Column III
A) Sickle Cell | ‘ 1) Due to reccsswe P) Arfan,gement of
Anaemia > PP genes ‘ Valine in place of -

Glutamw acid

B@ Phenyl Kctonur::}\ iij Due to absence Q) Inbom error of

] of homogentisic metabolism
’ oxidase enzyme
O A_Alkapto;zuria iii) Follows Mendelian R) Urine turns black
: LT '?fmmples when exposed to air
D) Thalassaemia iv) Characters caused S) The required
o bﬁ01nozygous haemoglobin is not
recessive genes generated in the

blood
(&) Lé;iii;Bl(B-i-Q)(C-iV-'P)(D-ii-S)
A\ B A VB Bi-QC-Hi-R)D-ili-S)
(C) (A-iv-P)(B-ii-R)(C-i-S)(D-ii-R)
—
D) (A-ii-S)B-iii-R)(C-i-QD-iv-P)

95) Which of theéfollowmg is the. symptom of Ulcerative colluS’?
(A) Eyes tum yellow
(B) leﬁculty in swallowing
(C) Lossof Iapij:e.‘t‘ite. o
(D)~ Watery stools containing blood and mucus

(Space for Rough Work)
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96) Which one is not cranial bone?

(A) Sphenoid ‘ \9/ Zygometic

(C) Temporal _ M) Frontal

)

97) o 'Y s U
spo—
2 .
. - N 40B

In this process which of the following play important role?
(A) Chlorophyll - (B) Light energy
(©) Ca*, Mn*,CI™ }sz All of the above

98) Which of the following is correct trend of succession 1@@dg§q§1

(A) Rooted submerged - Phytoplankton —> Reed swamp > Sedge
medow

(B) Ehytop!
“m

— Reed swamp — Rooted submerged — Sedge

(C) Phytoplankton '——> Sedge medow — Reed swamp — Root
7 submerged _ _ _
\9)/ Ph&tgﬁ_fglankmn s Rooted submerged — Reed swamp —» Sedge

[
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99) \On which surface of cell Donnan equilibrium occur?
'./ (A) Nuclear ﬁ]embranc (B) Tonoplast

(C) Plasma membrane \Q)/ Cell wall

100) Which type of gene regulate sex-determination in Spinach plant?

(A) Multiple genes (B) Heterozygous genes
\(9}/ Sing]e- gene _ (D) Homozygous genes

'101) When the respiratory substances are more than one then’ Wthh resplratory
~ substrates are not used‘7

Pure Protein (B) Lipid
(© Cabohydrate @Y (Ayand (B)both

102) State the condition of muscle contraction in folloWing diagram.

(A) Resting potential ( (B) Contraction -

(©) Maximally contracted D) None |
.(-Space for Rough'WOrk) 7 . ___
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103) How many years are considered in one minute in Gcoldgical clock?
(A) 1,90,000 years (B) 1,87,500,000 years -

\yz{ 3,25,000 years (D) 52000 years

104) Which structure is formed at Lhe time of exchange of gamcte nuclel in given
animal during sexual reproduction.

B) Cytoplasmic filaments

(C) Internal mbuﬁ: | (D) Plasmodesmata

105) Name the plant Shows@?ent_ive mbryonic éclls_.

(A) Lemon and Palms , UB/Citr'us and Mango’
(C) Lemon and Maize : (D) : Sunflower and Ma;ngo'
(Space for Rough Work)
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106) During i'espirati011
. (A) PGAL is not produced during respiratory events

(B) 2 PGAL during glycolysis and 4 Pyruvic acid are pmduccd in Kreb’s
cycle o

(C) 2PGAL during glycolysis and 2 Pyruwc acid are produced in Kreb’s

- cycle |
}E{)Y 2 PGAL during glycolysis and none of thaPGAL produced in Kreb’s
cycle @

——

107) Which of the following function is pei'fbmned by collecting tubule of kidney‘ﬁ’

(f(f In the maintenance of pH-and i 10{uc balance of blood by the secretion
of H* and K* ions ‘ :

(B)  Maintenance of pH of blood and removal of Na* and K*ions "~

(C) Absorption of glucose and ammonia from the blood

(D) None of above

108) A - Nerve flbre can becomc exmt@d through uch, §1:£1_(3J1, pressure and
chemlcal changes and there is a change fa polarity. )

R It is called active potent;al.‘ ![
(A) A is wrong and R is correct
(B) A and R both are correct but A is not correct explanation of R.

(C) AiscorrectandRi is wrong ‘
\_pa/A and R both are correct and A is correct explanatlon of R.

GUJCET-E-2015
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- 109) Select proper option, by matching column I, II and I11.

Column I " Column 11 - Column I
{Common Name) (Roman Numerical . (Acuvatlou pr oduct)
Des:gnatnon) - o -

P)MD x), | i) Convertin
Q) hgf_mygm y) V | i) Fibrin

R) Flbuno%en z) 1L _ ili) Thrombi
S) Proaccelerin @ . w) VII iv) Accelerin

(¥ Poreii) @D ®x- Gy
B) (P-w-il) (Q-z-ii) (R~y—iv);2
() (P-z-ii) Q-w-ii) (R-x-1v) (S-y-1)
By (P-z-ii) (Q-w-i) (R-y-ii) (S-x-iv)

{A) A= Lagging strand

E . 110) What is “A” and “B” in given diagram?
F
f B = Movement of Helicase

A RNA Primey

B= DNA Hehcase

(C) A= Single strand Binding Protein |

gi’ | . B = DNA Helicase"
! | (D) A= RNA Primer

i " B= RNA Helicase

(Spaée for Rough Work)
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? 111) In which field application of biotechnology occurs?

| (A) Bio-medicine ’

% (B) Agriculture

(C) Environmental field . )
\(DAH of the above

__ - 112) shows anti-allergic and anti-inflammatory effect. -

(A) Noradrenaline |

§ A /(Bf/ Glucoporticoids

% (C) Sexcorticoids

?; \ . (D) Mineralocorticoids

| 113) Durmg the process of decomposition in which stage céfnplex organic matter

{ . convert into inorganic ions and salts by fungi?

‘ . () Mmerahzat%on ' /(55 Catabollsm

! o ’ivj. (C) Fragmenfétiiox_l ' N (D) All of the above

114) ‘How much amount of volume of air is in lung@

(A) 1600 ml to 2100 ml \,(B( 2100 ml to 2500 m! -
© 2500mit03000ml () 1500 ml'to 1600 ml
(Space for ROugh'Wo‘rk)'
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115) What indicated “A” iy given figure?

(A) Hydrophobic bopd (B) Glyco'cidib bond
;29’ Disulfide bond (D) Peptide bond
116) What if totalfliastolic timepf ventricle in cardiac cycle? : :
| | 0.0 —
{(A) 0 Of (B) 0.40 second ’ '
(¢ 0.50 second - (D) 0.30second - :
. o 2058

117) Which amino acid determines by four gehetic codés?‘
(A) Tyrosine (Tyrye Moline (Pro)
(C)( Serine (Ser) (D) Leucine (Lew) C
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118) Which is the inhibitory hormone &f GH?

- (A) Testosterone
B) Parathormone

(;J’f Somatostatin
e T

- (D) Insulin

119) Complete and'balanéed the folloWing reaction.
Napo,+ X _, Y +NatPO,
®) X=HCO, Y=NaHCO,

(C) X=NaHCO,, Y=H.CO,
D) X= NaHCO3,' Y =NaCl

120} How many molecules .J e requite in foxmatxo@

molecules of gluff se) How many Calvin cycles dre requlred‘?
. j bl ik

A 24 ATPQ&NADPH 12 Calvin cycles | —

(B) 18 AT, 12NADPH, 6 Calvincycles . A7 A > |

(C) 36 ATP,24NADPH, 6 Calvineycles — \ —~ P \W \PARE I

;m’ 36 ATP, 24 NADPH, 12 Calvin cycles Q— oC  2M Wﬁ@
12 cye9
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